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WED| D1 |nDi1| D2 |ExT|E8EL ¢ | 01| 2] S | e |Lar | L2 | Te | Dc [nOct2to)| (kg
800 | 800| 933[2931| 942| 80 [2430[132][ 60| 72| 9 [250/120/130|4.5| 951 3016 | 1330
900 | 900/1053[3308|1062| 90 |2430[132] 60 | 72 | 9 [250[120[130] 4.5[1071] 3393 | 1670
1000 [ 1000|1173 3685|1182 100 |2430[132| 60 | 72 | 9 [250|120[130| 4.5 [1191| 3770 | 2060
1100|1100 [ 128340311292 105 [2430/132| 60 | 72| 9 |250[120[130| 4.5 [1301| 4115 | 2380
12001200 | 1403|4408 1412 115 [2430|132| 60 | 72 | 9 |250[120[130| 4.5 [1421| 4492 | 2840
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AED D1 -D1 BT BIERL [} Lc Lc2 71(Dc+2Tc)
800 +4 +3:-2 +3 +4--2 | +10-5 +2 +5.-2 +2 £3
900~1200 +6 +3:-2 +3 +4--2 | +10-5 +2 +5.-2 +2 +3
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- 178 & 17& i@
800 354 70.7 57.9 106
- 900 38.3 76.5 64.8 115
————— S 1000 41.2 82.4 716 124
1100 42.7 85.4 785 128
1200 44.2 88.3 86.3 133
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